restart
Ecuacion := y"-6y'+8y=5-exp(-3x)
2

Ecuacion := d—2 y(x) —6 (i y(x)j +8y(x)=5e
dx X

EcuaHom := lhs(Ecuacion) =0
2

NI SRR O B =
EcuaHom := " y(X) 6( ” y(x)) +8y(x) =0

Q := rhs(Ecuacion)
Q:=5¢
EcuaCarac:=m--2—-6-m+8=0
EcuaCarac:=m’—6m+8=0

Raiz := solve(EcuaCarac)
Raiz:=4,?2
SolUno := y(x) :exp(Raizl-x)
SolUno :=y(x) =e**
SolDos := y(X) :exp(Raizz-x)
SolDos := y(x) =e?*
SolHom := y(x) =C,-rhs(SolUno) + C,-rhs(SolDos)
SolHom :=y(x) =C, &'+ C, e**

SolHomDos := dsolve(EcuaHom)

SolHomDos :=y(x) =_C1e**+ C2¢**

SoINoHom := y(x) =A-rhs(SolUno) + B-rhs(SolDos)
SolNoHom :=y(x) =Ae** + B e

with(linalg) :
WW := wronskian ([ rhs(SolUno), rhs(SolDos) ], X)
4x 2 X
e e
WW =
I 4e** 2e?*

BB := array([0, Q])
BB:=| 0 5¢7 |
PRIMAS := simplify(linsolve(WW, BB))
— E -7X _E -5X
PRIMAS.—I > e > e \

Aprima := PRIMAS;; Bprima := PRIMAS,

Aprima = 2 ¢ 7
2

Bprima ;= - — ¢ °*
' 2

A = int(Aprima, x) + C,; B := int(Bprima, x) +C,
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5 -7x

A=- ﬁ e + Cl
—— 1 -sx
B:= E e + C2
[ > SolucionFinal := simplify(SolINoHom)
SolucionFinal := y(x) = % e ¥4 C, et 4 C, g?*

=> SolFinal := expand(simplify(dsolve(Ecuacion)))
1, 4 2
+5 () c1+ () _c2

SolFinal :=y(x) = 3
7 (&)
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